EECS 360 Short Quiz #1
Signal and System An;lysis
September 6, 201
Key

Name:

Open book, open notes, no calculator. Be neat, write legibly. For full credit you must show all work and justify each answer.
Youn may write on the both sides of the paper, and use additional sheets of paper if needed.

1. (30 %) Evaluate the following expressions:
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2. (40 %) The moving average y(t) of a signal x(t) is given by the equation
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where T is the time over which the average is made.
(2) Is the moving average a linear system? Fustify your answer.
(b) Is the moving average a time-invariant system? Justify your answer.
(c} Is the moving average a causal system? Tustify your answer.
(d) Is the moving average a BIBO stable system? Justify your answer, 45T
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3. (30 %) Determine if the following systems are invertible. If yes, find the inverse systems,
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